C1 : ALGEBRA AND FUNCTIONS 1

1) 



f(x) = x2 – kx + 9, where k is a constant.




(a)
Find the set of values of k for which the equation f(x) = 0 has no real solutions.

(4)

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

Given that k = 4,


(b)
express f(x) in the form (x – p)2 + q, where p and q are constants to be found, 

(3)


…………………………………………………………………………………………………………………………………………………………………………………………………..…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………


(c)
write down the minimum value of f(x) and the value of x for which this occurs. 
        (2)
…………………………………………………………………………………………………………………………………………………………………………………………………..………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

2)    Giving your answers in the form a +b(2, where a and b are rational numbers, find
(a)
(3 ( (8)2,





      (3)

…………………………………………………………………………………………………………………………………………………………………………………………………..…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

(b)
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 (4)
…………………………………………………………………………………………………………………………………………………………………………………………………..…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
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3)   (a) Given that 3x = 9y ( 1, show that x = 2y – 2. 

(2)

…………………………………………………………………………………………………………………………………………………………………………………………………..…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

(b) Solve the simultaneous equations

x = 2y – 2,

x2 = y2 + 7.

 (6)

…………………………………………………………………………………………………………………………………………………………………………………………………..……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..…………………

4)    Find the set of values for x for which





(a) 6x – 7 < 2x + 3,

      





  

           (2)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..…………………

(b)
2x2 – 11x + 5 < 0,

      (4)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………


Did your score match your estimated ‘success level’ ?

	Skill
	Qu
	(
	(
	(

	I can use the laws of indices for all rational exponents.
	
	
	
	

	I can manipulate expressions involving surds.
	
	
	
	

	I can complete the square for simple quadratic functions 
	
	
	
	

	I can use completing the square to describe the graph of a quadratic function
	
	
	
	

	I can analyse the discriminant of a quadratic function
	
	
	
	

	I can solve simultaneous equations by substitution
	
	
	
	

	I can solve linear inequalities

	
	
	
	

	I can solve quadratic inequalities
	
	
	
	


            ( Yippee!! - I got all the questions correct.

            ( I got most of the questions correct.
            ( I made too many mistakes and need to practise this topic more.

	Top 3 topics I need to study further are:

	


Score:		Percentage:			Grade:		    Effort:
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Overall, for this assessment I think my success level is: 





Low                 High


 O     O     O     O	
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